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1. Select the most appropriate ANTONYM of the underlined word.

Strenuous exercise can result in muscle pain .
(A) Aggressive
(B) impelling
(C) Effortless
(D) Irksome

Answer: C

2. Select the most appropriate ANTONYM of the underlined word.

The criminal offered his testimony, before the jury.
(A) Jokes
(B) Denial
(C) Time
(D) Deputation

Answer: B
3. Choose the incorrectly spelt word.

(A) Mortifeid
(B) Benign

(C) Dismay

(D) Insecurities

Answer: a
4. We might admire a bad manwe cannot admire aweak one.
(A) as
(B) for
(C) though

(D) therefore
(E) because

Answer: C
5. Manyaman............. imprisoned without trial in Fascist countries.
(A) are
(B) were
(C) is
(D) have been
Answer: C

6. Select the most appropriate meaning of the given idiom.

Lean and mean
(A) evil and selfish
(B) thin and weak
(C) ready and efficient
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(D) fatand lazy

Answer: C
7. Select the most appropriate meaning of the given idiom.
Give someone the cold shoulder

(A) Ignore someone

(B) Press hard
(C) Treat cruelly

(D) Treat someone nicely

Answer: a
8. The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error
from the given options. If you don’t find any error, mark ‘ No error’as your answer.
The prime Minister chair a high-level meeting / with senior officials / to review the covid situation.
(A) Noerror
(B) The prime minister chair a high-level meeting
(C) With senior officials
(D) To review the covid situation

Answer: B
9. Identify the segment in the sentence which contains a grammatical error.

Playing in the park is one of the thing that small children really love.
(A) in the park
(B) really love
(C) one of the thing

(D) that small children

Answer: C
10. Select the option that expresses the given sentence in reported speech.
I said to the bank manager, “I have forgotten my account number.
(A) Isaid to the bank manager that he had forgotten his account number.
(B) 1told the bank manager that | had forgotten my account number.
(C) 1informed the bank manager that | forgot the account number.
(D) 1said to the bank manager that | have forgotten his account number.

Answer: B
11. Select the word which means the same as the group of words given.

Small room where dishes are washed
(A) Pantry
(8) Ante-room
(C) Larder
(D) Scullery

Answer: d
12. Select the word which means the same as the group of words given.

Person or thing that is the centre of attention
(A) Organiser
(B) Leader
(C) Cynosure



(D) Politician

Answer: C
13. Given below are four sentences in jumbled order. Pick the option that gives their correct order.
A. Sometimes he even prescribed remedies for ailing pets.
B. Raghav owned a small pet shop.
C. He also dealt in fish food and bird seed.
D. He sold cats, dogs, birds and fish in his shop.
(A) CBAD
(B) BDCA
(C) ACDB
(D) DABC

Answer: B
14. Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful
and coherent paragraph.
A. Symptoms like nervousness, increased heart rate and feeling weak are some of the starting signs of anxiety.
B. Whereas anxiety attacks, sweating, trembling and having a feeling of impending danger might suggest advanced anxiety levels.
C. Most people don’t even realise they have anxiety or take corrective measures until it amplifies and gets out of control.
D. Anxiety is a sad reality of today’s time that has plagued a number of us in a variety of different ways.

(A) DACB
(B) DCAB
(C) CDAB
(D) CDBA

Answer: b
15. Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to
substitute it , select ‘No substitution required’.
When news of the concert leaks out, there will be a rush for the ticket.
(A) the rush for the tickets
(B) arush for tickets
(C) No substitution required
(D) arush for a ticket

Answer: B
16. Select the most appropriate option to substitute the underlined segment in the given sentence. If no

substitution is required, select no improvement.
The big farmers with deepest tubewells still have water, but many others face a water crisis.
(A) No improvement
(B) in deep tubewells
(C) through deepest tubewells
(D) with deeper tubewells

Answer: D
17. Select the most appropriate synonym of the given word.
Uncanny
(A) Reckless
(B) Insightful
(C) Deranged
(D) Spooky

Answer: D
18. - Select the most appropriate synonym of the given word.
Allege
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(A) Appease
(B) Charge
(C) Soothe
(D) Placate

Answer: B

. Select the option that expresses the given sentence in active voice.

Honest and polite people are admired by everyone.

20

21.

22.

23.

(A) Everyone admires honest and polite people.

(B) Everyone has been admiring honest and polite people.
(C) Everyone admired honest and polite people.

(D) Everyone will admire honest and polite people.

Answer: A
. Select the INCORRECTLY spelt word.

(A) Angryest

(B) Disinterest

(C) Healthiest

(D) Straightest

Answer: A
One of the most devastating periods in European history came (1) ------ the fourteenth century, with the epidemic of bubonic
plague, also known as the ‘Great plague’ and later dubbed the ‘Black Death’ At the time of its first pandemic, the bubonic plague
was a terrifying disease killing indiscriminately and (2) ------ cities and towns devastated in its wake. It appeared to spread just by
touching clothes and people who (3)---- healthy one day might be dead the next Faced with such a mysterious and horrifying
iliness, many believed that this was a divine (4) ------ for their sins. Researchers in Hong Kong at the end of the nineteenth century

discovered that the disease is caused by the bacteria ‘Yersinia Pestis’ . modern (5) ----- practices and medicine have greatly
subdued the impact of the bubonic plague buut have never completely eliminated it.

1. Select the most appropriate option to fill blank

(A) through

(B) at
(C) by
(D) during

Answer: d
2. Select the most appropriate option to fill blank

(A) settling

(B) keeping
(C) reckoning
(D) leaving

Answer: d
3. Select the most appropriate option to fill blank

(A) kept

(B) seemed
(C) became
(D) departed



24.

25.

26.

27.

28.

29.

30.

Answer: b
4. Select the most appropriate option to fill blank

(A) oracle

(C) order
(D) punishment

Answer: d
5. Select the most appropriate option to fill blank

(A) ongoing

(C) sanitary
(D) unhygienic

Answer: C
goi MfeAex & amu FEfalaa & gRr wmaRa giar -
(A) DS dI
(B) Pa I
(C) D~sdu= aAT HAdLH

(D) wrs®@M, dddEH X ISAIE

Answer: C
qr g9 B—
(A) drI-TE B BRI HEINS SIc BT T

(B) g aroe & SR WA HI B arell 3o &1 afaRaa mgfd
(C) <= ot smyfef womeht H arSUe & FRUT FEA F IgRT B gof A1 AIRTH wHIEC

(D)  araTERvA TETT BT S84 P ArHfIBROT BT I

(B) accolade

(B) cultural

Ify Ik el R AN BT [ONE (HIYfhRIg e veaws) 0.25 2, ot fafafaa & @ sa—ur fich ¥af & wF &1 gapam a2

Answer: A
JAHT?

(A) 0.32

(B) 0.25

(C) o245

(D) 0.15

Answer: D

afy Uo TR B Th SN W Sigex HEaieR g § GAH 97 @ gAT ordr 2, a SN § aera-

(A) =g 80 oid geerR feaw fag i @
(B)  aftraw g w9 weerR freraw fg iR 2@
(C) wwgut S ¥ wAM 8N

(D) ferifRa =Y fear w1 aoar 2

& 9g @ i 98 arell T § e R @) g9 ®9 9 QR ) ger od Wyl 3 A 2 9a6vs &1 999 2, a 9g @) a1

Answer: B
-

(A) 9.8 Hex

(B) 19.6 Hex

(C) 392 Hiex



(D) rorr ® fog aifes sruTi@ 2

Answer: B
31. waw, goaae o 9 frEfeafEaa wu § wwefera s 28—
(A) €T x g /AT
(B) &AW = wgHIT x O
(C) QT = wgATT x WA
(D) =W ="dW x I

Answer: B
32. fAufofag & & 5 'wetes S9fia fIame % €9 § G a7 S1aT 28?
(A) TieT T
(B) ST=IHTHTH a9
(C) HeEaTHT diferdam e
(D) AT =T

Answer: A

33. WA HIALTH AT HIA-A7 A= 97 G997 % Hoed F qafed 82

(A) L= 95
(B) ST 85
(C) sTg=s= 90
(D) == 80

Answer: D

34, FE-AT AT foherey, 2023 a9 Thehe faa &9 & S04, UF F fod 7T HEh0 § 700 T FT SAHST I FIA ATAT TgeT et aTs]
I ITAT?

(A) T STIHAT

(B) wrfga et
(C) oA Rt

(D) favTe Frger

Answer: D
35. fAaferfaa & & fa 84 srevim=ar weor fareme a7 & Sureasr & &9 # e 747 792

(A) IO T (Tapir Gao)

(B) 3fHTe AT (Omak Nitik)
(C) #raTs T (Sotai Kri)

(D) FTeT f*9¥=1T (Kardo Nyigyor)

Answer: D
36. THUH-TFT 2010 (MS Excel 2010) § THaa T 58 A # (AT. GFT i (key)
T ST FoFaT ST &

(A) Ctrl+F1
(B) Ctrl +F4
(C) Ctrl+F3
(D) Ctrl+F2

Answer: B



37. MS Excel 2010 ¥ = fRw 717 SeFer 3y et /42
=EXACT("Word", "word")

(A) 1
(B) TRUE
(C) o
(D) FALSE

Answer:

38. mwﬁmﬁﬁmwméah?mwmw%wwﬁm|

(A)  AAIPIB- e
(B) T -HET WIeT

(€) TReg-fEmar - sww
(D) STTHETH -3MTeT T2

Answer: a

39. SIMRSISN (DRDO) GRT W=l MENfIes! Hot IS (ITem) &7 Thd IS URTEI0T B, HR  forg auf vem e ud
faem o U Iuafs g1ikie &1

(A) 2022
(B) 2023
(C) 2021
(D) 2024

Answer: D
40. FHferfea & & F=-a71 wifrEnT et 7 awais w1 8?

(A) STET T FEOr
(B) HITORT 3 & MY ATEY TRTAT T ArawHe fafaataa swar
(C) HTAATHT FETAAT TSI HAT

(D) SATIATF TTAFIET HBId HLAT

Answer: B
41. STE] 2024 § I TS TTHA T FTT 0832 AT A9 FFILT9H T2t U faeeel 2024 T STATSIA S HATAT FHgl (T
TT?

NEEIUSE
(B) e

(c) faeett
(D) uTHraa

Answer:

42, ﬁyi%ﬂ@aﬁ@f%aﬁ 1873 § I XNYP JHIS P WITTTT BI?

(A) ST IHATE

(B) SR T% foummR
(C) TYUThId

(D) SACRTG MfdaRd ol

Answer: D

43. AT "faenT * B Sqeeg 7 AT & qarg ATATAT E T AT it aHiET T it 9Oih T1TT 6 g2



(A) ST 140
(B) TI==2 138
(C) sIg==® 137
(D) IT== 150

Answer: C
44, G, &I 19 AT 3 AT ATLTH 6 HIARTA il GLAT GATHT FLAT gl Irg ---- T % HIARIA 6 (o107 [H7h AT SITar &
T T 65 a9 il AT qF, ST AT Tg 2T, T2 I FTALT T&d 3l

(A) 5

(B) 6

(€) 4

(D) 10

Answer: B
45, fAufafed wuer o = fifm)
1 ATHEAT T AT ATaaar & 0 syoe 9= a9 § FA719 SArtord #0 Srd &l
2 AT, AYETE & A= a9 U7 219 | Tgol ST ATHAAT Al 97 FT T g, A< TLTTHAT, TPATT & THT FEoprieer 77
3 FETHAHAT i G AT ARTIT & FHIL0T HHTEE Taq: g1 9T g AT 2l
4 FTIFEAT FATT "HEE ITEE T e JOITSAT o SATHTL AT 67 ST 2l
TET FAT AT FI9 HIoI0

(A) G 1,2,3 37 4

(B) FaT 1,2 AT 4

(C) A« 13T 4

(D) FAA 13T 2

Answer: A

46. rzariRre AT o s Y gt iR gfe Aerfacers aet g2

(A) TEH

(B) AT

(C) B
(D) FTA

Answer: b
47. A ¥ T T ST W@ Hi TS AR AHIEHT BAl AT § FHATT T T147?
(A) sreafa T

(B) TTHTT B9t
(C) TRFT Tire
(D) =a9 WIT

Answer: c

48. frE FEIfed ST # gfaffsd Talaa aEs e A 3@ 2024 @ grafaa Far
(A) gaeT faeft
(B) AT TG
(C) gl IREERTH
(D) TS FaATAT
Answer: a
49, ST FoT FHW TSiEr "THT % AT a9 2023 § HIT FET 297 [T AT 6T G99 TST WX SHS1 ScATEH a7 4T &2
(A) STTITT

(B) AT



(C) ATE
(D) =

Answer: b
50. 7 A, 2024 FT FHISS FivrAd FT FST TEHTUT Fgt AT AT TIT?
(A) &=T TRt GeIm=, gas
(B) &= Wr=ehT e, O
(C) &= Wrenrht geaT, fawety
(D) &= S=NTRrEA HET, ST

Answer: b
51. a=12,b=-7 3R c=-5,a a®+b3+c3 & 4+ @ 87

(A) 1125
(B) 1200
(C) 1260
(D) 1380
Answer: C
4 1 5 1
52. aﬁ:x +x4=16,<'-ﬁx +x2 T AT F4T &2
(A) 42
(B) 5v2
(©) 2v2
(D) 32
Answer: D
53. 3afg 20 dom x WHAR A=A 30 & A X B
(A) 40
(B) 60
(@] 50
(D) 600
Answer: A

54. U& ga & Sfaw AB 3R cp, ga ¥ arex fig P wfaede FIch §1 I AB=7cm,cD=1
em AR PD=5cm e, at PBFr da1E (cm H) F1d HAifaw)

(A) 5
(B) 3
(C) 8

(D) 10
Answer: B

55. 3fg ﬂABC ﬂEDFsﬂ' 9hR & fF AB=6cm, DF =16 cm 3ilT DE =8 cm, d BC#H da1$ 7d ffaw|
(A) 10 cm
(B) 8cm
(C) 14cm
(D) 12cm

Answer: D
56. &0 ot @ sidfsan (inradius) dem aRfSsar (circumradius) &1 srgurd fdas 57
(A) 1:2



57.

58.

59.

60.

V2

(B) -3
(C)1:3

(D) 1:
Answer: D

% a1 BT APl 24 cm B | S|HT uRAT faaer 87
(A) 28 cm

(B) 48 cm
(C) 36 cm

(D) 46 cm

Answer: B
TH STHN) A 4 AT, 2 BT g 5 ARIAT 21 < HANTT Sid & TP AT qAT Th ARMN FIdre™ &1 Ga=T w1 8 Sidfh Ugell IR Uh 3MH
frera®r g7 99 <ied d @ faar wa 8i?

20
(A) 121
10
(8) 121
16
©) 121
1
o °
Answer: A
2 _ -1 -1
uﬁx +bx+c 0$1aaamﬁ é’.?ﬁa +B BT A qAT B?
b
(A) ¢
b
B) €
c
b
—c
o b
Answer: A

5c05235°+4sec230°—mﬂz4-5”
tan? 60°—sin*30°—cos245° &1 AT AT P




67
A) 24

(B)

(€
E
o) 27

Answer: d
61. X3 YEERT yrea 31 & 3w, v AR 2 @R -y itee A @ 35 FA B IR zganT wrea 3% 85 §, A xqganr

9red 3% fFaa &2

(A) 25
(B) 15
(C) 155

(D) 35

Answer: B

77+7=+~7921

62. +15

Answer: A
63. =@gfg A, T a® TR TR B &, &R W Ue g=RI%T &1 981 9 Rs.1600 &1 SiRil © 3fiR 19 auf # Rs.1700 &1 SRl & | &1 31 &% A
P |

(A) 6.5%

(B) 6.25%

(C) 6%

(D) 7%

Answer: B

64. TH a¥d W 10 faerd g 3 & a5 sft 10 wfAera F1 @wer @ ¥ 5@ F§ ge A & AT § v aer yidera
FIT gRm?

(A) 26.88 wfaerd

(B) 22.22 wfaera

(C) 16.66 wfaerd

(D) 25 wfaerd

Answer: B

3 2 4 3 2
&% + 80x“ + Zl}{)x)mmx + 16x° — 20x

65. ) LCM FT §1



2
(A) 4 (x+5)%(x — 1)
2

(x+5)%(x-1)
2

(x-1)2(x+5)
2
(D) 4 (x-1)%(x+5)

L

(B) 8

() 8

e el

Answer: B
66. IfE TH HEAT K=42x25x54x135,3% gaNT AT 3, @ a F1 FfWFas #A@ 70 A0
(A) 4
(B) 6
(€) 5
(D) 7

Answer: D
67. 'Uh SUNR H ATUT CHAA: 2:1 i H fAder fohar aur AR BT a2 3:2 3q9id & 41| I anidies ey

157300 %. @I, dl 38H & BT fgear &ar ot ?
(A) 72600%.
(B) 48400 %
(C) 36300%
(D) 24200%

Answer: B

68. R eI A HAwa # 81% N M g A &, A YT W A A AT F IARaAfdd WA F AT 39eFar g@an
e A @ud H fraa yfderd i A1 i Fe FRE? (@ eHTT TU=
a% |a)

(A) 41.25%
(B) 44.75%

(C) 40.45%
(D) 43.12%

Answer: b
69. UTH TH > T H B RA@ GOiadT W Sal bl 9 B H Wiell TR AHAT 2| Th S usy 5 ellex /e @ &R A U WRaT © | S guiaar w9y
BN IR, gere Wiel faar e € &R R4 & SR el 12 8 § @rell 81 Sl 8 1 € B emRen (efex #) s i |

(A) 10,008

(B) 10,800

(C) 18,000

(D) 10,080

Answer: B

3
70. 10cmﬁ$mmﬁﬁmmmwaﬁ%3ﬁ1mm1socm ¢l Bsw &1 Fa ST Aaed

5
(cm m a S|
(A) 176

(B) 200
() 192



(D) 180

Answer: c

71. P,QF TH Sidd 30 AU & o1 9T d°ar ¢ 3R Q 3@ RFY 20 9fAAT F A9 W I°ar §1 PIAR RF T

Hedl & AT FAT 82
(A) 12:17
(B) 25:39
(C) 13: 19
(D) 24:35

Answer: B
a* — b*
72. ), (a%-ab) X (a2+ b2) FT AFUTeTafar 1a Hfw

(A) (atb)

a

a+b
b

(©) a+b
(D) (a-b)

(B)

Answer: B

73. wH U vw dF A AT A At § N WUROT ST &ar ¢ Y 3 awt F 1.257@n g et ¢ AR W@ awf & g
760,000 #T ITERIFHAT g, Al IH AERIFAT F QU A & fav fFf Fr Fash afr s F=h e

(A) 480,000
(B) 600,000
(C) 570,000
(D) 520,000

Answer: A
74. AR FTF FT 3/8 1T 36 A H T F FHaT g1 BIW FR FT ITET IWr 27 A H QU F FFAT B

ffaf@a & @ & @1 w97 G@ ¥

I.A,BY FH FUT Bl

I AR B AT $F FI@ §U TAW FE FT 11/15 AT 36 el & U FT Fhal ¥
A Fari kT
(B) @ael |
(C) ae Il

(D) 13X na=r

Answer: B

75. @ gt &Y °ral FT AT 5 ¢ 7 ] AT wgelt &7 3 @ A 300 km AT FIAM ¥, A Ggel T A A (km/h)

o 87
(A) 140
(B) 100
(C) 150
(D) 120



Answer: b

76. & 1§ angfa F fraw aqelsr € 2

Answer: A

77. 39 3 NG FT T4A FAC oY PFAfQi@a 9 F T gaU # gafaqd w9 F geiar &

(B)
(69
Answer: B

78. 12cm ST 91 U O F W Gl B F T F @ A1ar § A RBT 3/ 2 om o Ak BB gl F Frer
m%l@@%aﬁﬁﬁwmﬁﬁc%ﬁwm@ngm%l

(A) 68
(B) 78
(C) 49
(D) 96



Answer: D
79. W fawew ampfa &1 w7 HfSw owd § 71 smpfar (x) 38F smr & 77 A& Bk g8 § (0P F gaAe A
srgafa adt @)l

Answer: A
80. g¥or # fara AT & AR 'PQ' I T@T ATl &, At U FASIar F o=t arer @t guor wfafda &1 a7er F:
P‘

GORGE8US

Q
» 2U03DA8D
5 2U8IDA0D
o 2U03DA0D
o 2U83DA8D

Answer: B
81. R, el ok ofpl 9§ gaa FAfeRad SgaRen &7 s & &R < Ay 17 g &t
TR ¢ |
() G6&$4YBI#@WHE%6&KI@RIATE&%H#UYS$#QY
84$ (am)
fre=forRad & & o9 41, 1 T8 gaven ¥ SN RR 9 Tlegd WM & 8 3R A I
T 8?7
(A) T
(B) Y
(0 Q
(D) #

Answer: C
82. 3W WHTAY F TFF v Fwd #Eaw sraw #F 3¢ yFR Wt § Oy gwR eafaf@a st # eI
oy # wafaa &
(9,16, 5)

(7,9,4)
(A) (14,100, 5)



(B) (12, 66, 4)
(C) (14,64,7)
(D) (11, 36, 5)

Answer: D
83. A-BHFT T § fF 'A B AT ¥
A%BH 3T § F ‘A BFT oS ¥
ASBHT 3T & &F A BF TgaT &
A@BFH HT & F ‘A BH qT ¥
IR L@M-NSO%PR, A LHT P FIT TaY &2
(A) |TeT
(8) far

(C) g

(D) I

9

Answer: C
84. 8 IR 2018 B AWIE &I HIT—T fo= o7 ?

(A) par
(B) wffa=
(C) <faar

(D) gEEfaar

Answer: D
85. f=faRad oR vl & I 19 6 YR W A & 3R TP SR & | S IRATd & BT aqT PN |
(A)  Yprern
(B) ufamr
(C) wHER Uz
(D) g

Answer: A
86. wH fafRad FT &TNT H, 'PRESIDENT' &1 'RPESDINTE' fa@T ST § 31X 'KNOWLEDGE Y 'NKOWELGED' fr@T ST B

3HY 97T F 'EDUCATION' F& for@r Seem?
(A) DEUCTOANI
(B) DEUCTAONI
(C) DUECTAONI
(D) DECUTAONI

Answer: B

87. 39 W RFeT &1 T¥T H S RU 7w el F 33 FA A giar § T F7 & 3 I sy A @A F
1 Tranquil 2 Transit 3 Transfer 4 Transient 5 Training
(A) 5,1,3,4,2
(B) 5,1,4,3,2
(C) 2,5,3,4,1
(D) 5,1,3,2,4

Answer: a
88. Ed I wd ¥ edax WY SR @ iR 20 m Fen, iR 9 gei &k g 20 m
3T Tl | fBR g8 ofd § a o1 3R W 20 m IAwR U BR Ugd 1| IS g



o
WWW@WH&W@W??(@%%WQU arel IS €)
(A) 25m
(B) 20 m
(C) 40m
(D) 30 m

Answer: B
89. Rl & S AN BT 799 FHfoY, R Raw el R $fe U 9 W oM W gRigha e g g
a. bc. abcda.ccd bed
(A) a,d,b,b,a,d
(B) a,¢,b,d, b, d
(C) a,d, b, b,d,d
(D) a,a,b,c,c,d

Answer: A

90. R 7w 3y Real qur FEAEt & 39w F WEW g W), AFfaf@a & @ sia a1 gHfewor g @ smeem?
-dYT +,6 94T 3

X
(A)7-3° 2:6+4=17
(B) 8+3-6+4:2=49
(C) 7+6+3x8-5=35
(D) 9-6x4 +3x7=8

Answer: B
91, 3If¥ 96c3=32 3ikx 288Cc8=36,dY 408C6=?
(A) 64
(B) 60
(C) 68
(D) 62

Answer: C
92. Ru 7w fawedi # ¥ a7 e g N PAFRA@T Aot & NaaEs Reg () F T | 3T TFA
12, 38, 116, 350, ?

(A) 1012

(B) 986

(C) 916

(D) 1052

Answer: d
93. LR AFEuidl 8 & wrg—wry ores Ml €1 30 st o #en # L3 10 W € o dad Sl & A € ok 509 i & ot Ao ) fim
A AD o L7 g | fraasmadLas fadsiRad As fam €2

(A) 5

(B) 2

(C) 4

(D) 3

Answer: d
94. UF HHA faam A B, wH ¥ vF ug qed 71 Rw Av Fwedt & & a7 9@ Rwew gaw, It sgEa B 9w =

NMR, QFZ, TYH, WRP, ?
(A) ZAM
(B) ZKX
(C) zZXY
(D) ZRS



Answer: B
95. we®A L, M, N, O, PR QS| P 3R JIFE @R T 8, oMb oodl T8l 1P J

s 7 A WS B | LU fr R R wer @ ek Q SUd s\ A 2| M, P & UdeH T
TS H I M, BRA TR WH RN, Qd us # 748 g1 Q & THeH Y
TSR H B e 272

(A) O

(B) P

(A M

(D) L

Answer: A
96. $: A | o9 Ml WA A Bl § W] I TROT Rl g |
FgEr: [ urefr 4@ waeany g 8 "adl € | [ HIS &1 uRH dade, U b1 i 2 |

(A)  ®ge [ a=afifRa 21
(B) waa Il srafifea 21
(C). la Il & sr=af-ifaa 21

(D) = lar 71 & 1l srafifea 21

Answer: D
97. R R v T # Fo Fu7 3R 3% G 37 FYA W 3RT Fo Fewd Re av § Re av 7=t 7 7@
A, e ) 39H AT A a2l @ Bedar @11 a3 s 92 i i AuiRa & F sl @ Ty, Re v Fy=t
FT AAEE T ATEOT FI F
S Y
Lgsft w,LE
n.gshy L, mEl
fashy:
IL#E L waAd B
I.FE M, LAE B
. HE M, W gl gl
(A)  wsft s sreraRor Fea §
(B) Fder fasH¥ 1 IHTHIOT FYAT E
(C) aer forsa | 3eTEROT FT §
(D) *§ 3t ey sregaor At Far §

Answer: D
98. 3¥ fFeq 1 ¥ F AN yiHdl ¥EA ¥ 3W vFR FEfta ¢ 0w R qud e gge wEar @ w6 § oAk
Tl FEar fed dEwr ¥ wERd 2
7: 25:: 4:4:: 3:?

(A) 1

(B) 5

(C) 4

(D) 7

Answer: A
99. UF IHA faam aam B, wH ¥ vF ug qed 71 Rw Av Rwedt & & g7 9@ fwew gaw, St sgwma B @ =
NTS, JZF, FFS, BLF, ?

(A) XMO



(B) XMQ
(C) XSM
(D) XRS

Answer: D
100. fOrdr REal F 39 T8 TS FT 947 A 0 AP T A » Real & W W »@S | @0 =7 gHwor
wqfaa g smeem|
25%4 *6 *2* 17

(A)+l'1xl=

Answer: A



